22 (tennis) An advertisement for a tennis magazine says “If I'm not playing tennis, I'm
watching tennis. And if I'm not watching tennis, I'm reading about tennis.”. Assuming
the speaker cannot do more than one of these activities at a time,

(a) prove that the speaker is not reading about tennis.

(b) what is the speaker doing?

After trying the question, scroll down to the solution.



(a)

(b)

Solutions

prove that the speaker is not reading about tennis.
Abbreviations: p = (I'm playing tennis) ; w = (I'm watching tennis) ; r = (I'm reading
about tennis) . The given information is on the first line of the proof.

(Fp=2wW)AEEw=nNA=PAWA-DPAF)A=(rAWw) exclusion
(p=2WAGEr=wWA=PAW)A=(PAF)A=(rAw) antidistributive
(=pvar=w)A-PAWA=-(PAF)A=(TAW) duality
E@AnN=wWA=-PAW)ApPAT)A=(FAW) discharge
WA=(PAWA=-(PAT)A=(TAW) use the first w as context
WA=DA=(PAF)A T duality
WA=pA(opV ar)A-r use the first occurrence of —p as context

to change the underlined occurrence of -=p to T,
and use the last occurrence of —r as context
to change the underlined occurrence of —r to T .

WA=pA(TVT)A-r identity
W A Sp A F specialize
-r

Perhaps the second given sentence meant “And if I'm also not watching tennis, I'm
reading about tennis.”. If so, it should be formalized as =p A =w =r.

UII I

(p=WAEPA-W=A-PAWA-DPAT)A=(TAW) portation
Cp=wWIAEp=Ew=NDA=PAWA=PAFr)A-FTAW) distribution
(p=wA(=w=r)A=(PAW)A=PAT)A~(AW)

use first w as context for second w

p=w)A(pAW)A(pAF)A(rAwWw) duality
p=w)A(CEP VY WA(PAF)A-(rAwWw) material implication
p=w)Aw=-p)A=(pAr)A-(rAw) double implication
p=w A (P AF)A(rAW) use context —p=w to replace w with —p
“p=w A (p AT) A(r Ap) duality twice
p=w A (p VvV r) A (0r v p) exclusion and factor out —-r
pFw A (-r v (7p A p)) noncontradiction and identity
pP¥EW A -1 specialize
-r

In either interpretation, the speaker is not reading about tennis, so it is not a good
advertisement for the magazine.

what is the speaker doing?

From the second-last line of the first interpretation of part (a), watching tennis. From the
second-last line of the second interpretation of part (a), we see that the speaker is either
playing tennis or watching tennis, but not both, and we cannot determine which one.



